Ll
9

. BAaTTw

. Bpotpov
. ViKn

. ARpa

. BAakTéw
. Byylg

. 0¢ltpov
8. kabevdw
9. A0xog

10. kBog
11. xeip

12. pvplot
13. poBadg
14. cBtog
15. ol

16. Al

17. Byéopon
18. ollvog
19. Tevtkovta
20. Bon

21. Bva

22. dokel
23. yéplpa
24. (NTéw
25. Bmmog
26. (evyvluL
27.mlp

28. @600
29. 8idwut
30. Bkovw
31. Bva

32. Bpyvpog
33. YIlYyWOoK®w
34. elTuymg
35. @0Aov
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A. harm
A. virtue
A. victory
A. branch
A.run

A. near

A. pillar
A. order
A. white
A.river
A. care
A.100

A. reward
A. place
A. foot

A. out of
A.lead
A.one
A.5

A. snake
A. left

A. it hurts
A. woman
A. live

A. horse
A. breathe
A. fire

A. yay!

A. give

A. see

A. well

A. gold

A. give birth
A. easy

A. prize

B. see

B. bag

B. defeat
B. furnace
B. bark

B. far

B. temple
B. call

B. wolf

. garden
. hand
.1,000

. story
sail
how?
upon

. follow
wine
50

cow
right

. it feels
door

. fasten
cow
build

. pyramid
wow!

. care for
smell
since

. silver

. be born
. lucky

. evil

PPN I I I II IR E P W

C. walk

C. plow

C. honor
C. queen
C. stop

C. wherever
C. theater
C. punish
C.loose

C. boulder
C. winter
C. 10,000
C. small

C. wisdom
C. where?
C. within
go
.awning
500
shout
up

. it seems
. bridge
grow

. donkey
yoke
wand
alas!
sigh
taste

so that

. crystal

. be kind
. pretty
C. honor

OO0 NN000NN000N0

II. Synonyms: Choose the best Greek SYNONYM for the given word.

36. Apwg
37. yoog
38. Bpaw
39. BptL
40. 6Ru6G

A. Btepog
A. ovn
A. BAéTw
A. @mo

A. (BAog

B. AAAG
B. pwvn
B. BaA\w
B. vVl
B. Botvu

C. ToAvg
C. owwmm
C. BAamttw
C. g

C. uél
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ContestID: 1022

Vocabulary: Choose the English word which BEST translates the given Greek word or phrase.

D. wish

D. arrow
D. goddess
D. word

D. lift
D.you are
D. house
D. sleep

D. hare

o
3§
—~
8

. time
.100,000
sweet
grain
when?
down from
come
house
5,000
life
down
.itrains
.earth

. search

SESESESECECE-ACRCRCR-RSRCR-R-R

D. gate

D. behold!

D. think

D. hear

D. hence forth
D. copper

D. perceive

D. soft

D. murder

D.yap

D. olyn

D. BAactavw
D. 6¢

D. yExn



III. Antonyms: Choose the best Greek ANTONYM for the given word.

41. Pevdng A. Blpabng B. 6€€10¢ C. Tatpog D. BAn 061G
42. mavta A. o@8¢v B. 0@A0g C. umqmp D. xOwv
43. yepaidg A. uBlkpog B. véog C. pueAllg D. Aaumpdg
44. RIEvg A. popog B. &¢évog C. XAwpog D. pwpog
45. Blotnut A. xaBi(lw B. TiOnut C. payopat D. Bpotaw

IV. Grammar, morphology, and syntax: Choose the BEST answer to the question.

46. Which of the following forms of the adjective “puéyag” can agree with the noun form “0eov”?

A. peyaA B. peyaAl C. uéya D. peyainv
47. The protasis of which of the following conditionals is introduced by “édv”?

A. future less vivid B. future more vivid C. present contrafactual D. past contrafactual
48. Which of the following forms is a future participle of “méumw”?

A. epTOpEVOG B. mepumOnoopevog C. mépP g D. mepPapevog
49. What use of the genitive is found in the sentence: “Blmtaivov oBmote omavi(ete”?

A. price B. cause C. separation D. possession
50. Which of the following forms of “6{6wut” is second person?

A. 818o0lte B. 6160 C. 8idopat D. Swoopev
51. In which of the following noun phrases are BOTH adjectives in the attributive position?

A. B mall¢ @ moAvpabBg B Blyadn B. moAvpa8@c @ Byabld mallg

C. moAvpaBdc B mallc @ Byadn D. B Blya6 mallg ToAvpabng
52. Which of the following can only be negated with “un” and never “o@”?

A. infinitives B. participles C. optatives D. imperatives
53. What are the case and number of the noun form “VB®"?

A. dative singular B. genitive plural C. vocative singular D. accusative dual
54. Which of the following forms is the aorist active infinitive of “BAwoxw”?

A. BAwokev B. pepfArokéval C. poAellv D. poAeBobat
55. Which of the following forms of “moA1g” is accusative?

A. ToAéowv B. ToAéwv C. moAwv D. moAeowv
56. Which of the following is a proclitic?

A. tol B. B¢ C.yé D. mép
57. Which of the following is the correct accentuated form of “BvBpwog T1"?

A. BvBpwTog TIg B. BlvBpwog TIg C. BvOplTog TIg D. BlvBpwTog Tig
58. Which of the following are the correct comparative and superlative forms of “Blvépei@”?

A. Blvépeldotepa & Avopeldtata B. Blv8petotepa & Bvdpelotatn

C. Blvépelotépll & AvSpeldTata D. Blvépelotépll & BvEpelotat
59. Which of the following is a form of AapBavw?

A. \Popat B. Afoopat C. AelPopa D. AeiBopat
60. Which of the following pronouns does not have an enclitic form?

A. Blpol B. ool C.Aue D. o0
61. What form of the adjective “ajpyog” agrees with the noun form “veRvillg”?

A. dpyng B. dpya C. apyov D. apyotg
62. Which of the following is the correct resulting vowel for a contraction of “o+¢&”?

A w B. ou C.m D. el
63. What use of the dative is found in the sentence: “BAAA0LG SteNéypeba”?

A. association B. disadvantage C. agent D. possessor
64. Which of the following is not a form of the relative pronoun?

A. Blv B. dg C.ol D. al
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65. Which of the following forms of the definite article agree with the noun form “na6ovg”?

A. To0g B. ol C.t[ D. af
66. Which of the following is not an allowable accentuation pattern?
A. acute on the antepenult B. acute on the penult
C. circumflex on the antepenult D. circumflex on the penult
67. Which of the following is the contracted future active participle of AAT{{w?
A. BATiCwv B. BATEWY C. BATURV D. BATtioR¢
68. Which of the following is not a use of the infinitive?
A. articular B. epexegetical C. reference D. purpose
69. Translate the following sentence into English: “Bl avBp BnA tl¢ yuvaklg Byesipetat”
A. The woman is woken up by her husband. B. The man is woken up by his wife.
C. The woman wakes her husband. D. The man wakes his wife.
70. Which of the following is an imperative?
A. 8Vvacbe B. SUvaoat C. Suvacbat D. duvatat
71. 600 : 8eVTEPOG ::
A. el : Btag B. tévte : mEVTAKIG C. Bxktw : Alydoog D. Bkatov : xiAlol
72. What case does the preposition “mpo6g” govern?
A. genitive B. dative C. accusative D. all of the above
73. What is the part of speech of the word “unxét”?
A. conjnction B. adverb C. particle D. interjection

74. What mood and type of clause is found in the dependent clause of the sentence:
“pofolpat il ol yévntal’?

A. subjunctive & result B. optative & purpose C. subjunctive & fear =~ D. optative & wish
75. What are the tense and voice of the participle Elpyalopevor?

A. future middle B. future passive C. aorist middle D. present mediopassive
76. Which of the following does not belong because of part of speech?
A. Bdwp B. llp C.yap D. anp
77. What are the case and number of the phrase “tdg BI€ Bucic’?
A. genitive singular B. genitive plural C. accusative plural D. accusative singular
78. What are the person and mood of éumotto?
A. 3rd & optative B. 2nd & indicative C. 3rd & subjunctive D. 2nd & optative
79. What number is péAita?
A. singular B. dual C. plural D. any of the above
80. Which of the following words cannot introduce a purpose clause.
A.um B. Bmtwg C. fg D. Bv
81. What type of subordinate clause is found in the sentence: “BmpeAolpal Bmwg tallta Towmoe”?
A. causal B. proviso C. effort D. result
82. What type of subordinate clause is found here: “B@acav Amodwoewv AR B ul kaiew t6g oRkig”?
A. purpose B. result C. circumstantial D. proviso
83. Translate the sentence “éav Tallta momollg, kaAllg Towmoeig”?
A. If you do these things, you will do well. B. If you did these things, you would do well.
C. If she does these things, she will do well. D. If she did these things, she would do well.
84. Which of the following is the masculine singular nominative form of the present participle of e@ui?
A. Bv B. Bwv C. Botwv D. Bv
85. Which of the following forms of moAUg can modify the noun form vrjocoug?
A. moAAal B. ToAAdG C. ToAAoVG D. moAAol
86. What use of the accusative is found in the sentence: ““BitAee po@actv AR AAAnoTOVTOL”?
A. extent of space B. respect C. adverbial D. predicate
87. Which of the follow is the vocative form of Zetg.
A. Zgv B. Ala C. Awog D. Au
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88. What degree is the adjective form “B&iwv”?

A. positive B. comparative C. superlative D. none of the above
89. Which of the following numerals is not indeclinable?
A. Amtta B. Bvvéa C. Téttapeg D. mévte

V. Reading Comprehension: Refer to the following passage for questions 90-100.

The city set on fire during the Corcyran revolution (Thuc. 3.74 adapted)
1 SwxAmovg 8B Auépllg, yiyvetat aBig paym- kall vEIkE B SBuog, poéxwv Bloyi te xwplwv kall mANROeL
2 BAvBpwmwv. cuvemeAddfovto 88 alltollg ToAunpls kall al yuvvallkeg, BadAAovoal Bl TRV olkiEv T
3 kepaul, kall apl @Oowv Amopévovoat tllv B6puvfov. epl 6B Seidnv APiiav tpoml TRV BAlywv
Blyéveto,
4 xall RAdewcav ul @ SBpog ATeABRlV kpatnoele e TG TOAews alltofoel, kald opl¢! SltapBeipewy,
5 @eldopevol ollv tlc olkillc olte BAA0TPIEG. BoTe kall xprjpata TOAAR Aumopwv katekadn, kall
TOALG
6 Bkvdlvevoe oo Stapbapllval, e Blvepog TR Aoyl BAmeyéveto Bmigpopog B¢ alltnv.

1 the oligarchs (the principal subject)

Vocabulary Aid (alphabetical order):

GAA6TpLog, -7, -ov: foreign, alien Bmigopog, -ov: carrying toward ovveTlAapBavopat: to take part with
abfltoBoei (adv): without (striking) a blow 06pupog, -ov, A: confusion, uproar TOAUNPOG, -&, -0v: bold, daring
(lit. by a mere shout) BloxVg, -0og, @: strength TpoT, B¢, B: rout, flight
8&ldw: to fear Katakaio: to burn down completely Bropévm: to endure, put up with, support
8&iAn: afternoon Képapog, -ov, : tiles; roof @e8opevog, -1, -ov: sparing
Stxdeinw: to elapse Kwvduvevw: to venture, run a risk @AOE, @AoyOg, B: flame
Sta@Beipw: to destroy KpaTNoLG, -£wG, A: might, power xwplov, -ov, T0: stronghold
Bumopog, -ov, @: merchant Eynog, -a, -ov: late, tardy
Bmépxopat: to attack Tpo£xw: to be superior

90. What is the best translation for a@01¢ (line 1) here?

A. backwards B. on the other hand C.in turn D. again
91. According to lines 1-2, what did the common people have as an advantage?

A. their intellect B. their numbers C. their weapons D. their courage
92. According to the passage, how did the women help the commoners?

A. by burning down the city B. by throwing tiles

C. by building a stronghold D. by destroying merchandise
93. What part of speech is toAunpg? (line 2)

A. adjective B. noun C.adverb D. particle
94, What is the subject of Blyéveto (line 3)?

A. tponl (line 3) B. 6@pog (line 4) C. paxn (line 1) D. oA (line 5)
95. What type of clause is introduced by pf in line 4?

A. fear B. result C. purpose D. effort
96. What noun does @e186pevol (line 5) modify?

A. yuvalxkeg (line 2) B. 8@pog (line 4) C. oBkilg (line 5) D. o@lg (line 4)

97. What are the tense and mood of Bkwvdvvevoe?

A. aorist subjunctive B. imperfect indicative C.imperfect optative  D. aorist indicative
98. What are the voice and mood of Sta@B8aplvar?

A. passive infinitive B. active subjunctive C. middle indicative D. active imperative
99. Translate the conditional in the last sentence from lines 5-6: “BI moALg BlkivéUvevoe Tlloa
StapBapllvay, B Bvepog T @AoyR Ameyéveto Amigopog B¢ afltnv”?

A. The entire city would have risked being destroyed, if the wind had carried the flame towards it.

B. The entire city would risk being destroyed, if the wind should carry the flame towards it.

C. The entire city will risk of being destroyed, if the wind carries the flame towards it.

D. The entire city would risk of being destroyed, if the wind were to carry the flame towards it.
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100. What type of conditional is found in that last sentence?
A. Present General B. Past Contrafactual C. Future Less Vivid D. Present Contrafactual
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